Chapter Review
9 |

9-1 Identify Quadratic Functions

Tell whether each function is quadratic. Explain.

1.y+2=4x+3x+ 12 2.{(—2,11), (=1, 1), (0, =5), (1, =7), (2, -5}

Tell whether the graph of each guadratic function opens upward or
downward and whether the parabola has a maximum or a minimum.

3.y=—x%+4x—1 4. y=2x%+ 3x+5

5. Graph the function y = —%xz — x + 4 and give the

domain and range. s
Yoraived \{,\mh.es
9.2 Characteristics of Quadratic Functions

Find the zeros of each function from its graph. Then
find its axis of symmetry.

M. y=3x2 +9x— 12
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9.3 Graphing Quadratic Functions -

Graph each quadratic function.

12,y = 2x% + 6x + 1

9-4 Transforming Quadratic Functions

Compare the graph of each function with the graph of f(x) = x2.

15. 9(x) = x2 - 5 16. g(x) = ~2x2

9-5 Solving Quadratic Equations by Graphing

Solve each equation by graphing the related function.

17. x2 — 4x=0
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20. A baseball is thrown upward with an initial velocity of 96 fest per second.
The equation h = —16t% + 96t represents the height, h, of a baseball after
t seconds. Graph the equation. How long will it take the baseball to return
to the ground?
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Time of flight in seconds

Height iri feet

9-6 Solving Quadratic Equations by Factoring

Use the Zero Product Property to solve each equation.

21.(x - 5)(x +2) =0 %/E

i

=0 23.x(x—5)=0

Solve each quadratic equation by factoring.

24. x2 +5x+6=0 25,2x2 + 5x =12

9.7 Solving Quadratic Equations by Using Square Roots

Solve using square roots.

27.0x2=72 ' - 28.0=5x2—245 _ . 29.25x2—-16=0
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Solve. Round to the nearest hundredth.

33.84 — 7x% = —22 384647 242128

9.8 Completing the Square .
Complete the square for each expression.

36.x°2 — 14x + m 37.X° + 6x+m 38.x2 — 1ix+ m

Solve by completing the square.

39. X2+ 10x~11=0 40.x2-24x+63=0 W

9-9 The Quadratic Formula and the Discriminant

Solve using the -Quadratic Formula. Round your answer to the nearest
hundredth.

46.2x° —4x —3=0 /
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